
 Página 1 
 

 

 

 

 

 

 

Compacto Brastemp Retrô Black 
 

  BRA08AEANA / BRA08AEBNA   
 
 

 
 

Revisão Motivo Páginas 
Alteradas Elaborado Por Revisado Por Data 

0.0   Felipe P Lordello Rafaela S 
Matos 03/04/2013 

 

carvafr
Text Box
BRA08P

carvafr
Text Box
Compacto Brastemp Retrô Pride

carvafr
Text Box



 

217 

217 

Nota
326030733 DOBRADICA SUPERIOR PRETA 

Nota
150389003 CALÇO DOBRADIC

Nota
326030734 DOBRADICA INFERIOR PRETA

Nota
326049968 PARAFUSO MAQ. CAB. SEXTAV. RoHS

Nota
326049967 PARAFUSO M8x12,7 RoHS

Nota
326054867 CAIXA DERIVADORA (BTRF0134)

Nota
4217586 CONECTOR LINHA SUCCAO  


Nota
326028977 BUCHA FIXACAO (C+F)  


Nota
W10246203 CORDÃO FORÇA NBR14136 2P 10A  
 


Nota
326031470 PIVO DOBRADICA (C+F)  


Nota
151709001 BUCHA CAIXA TERMOSTATO  


Nota
326030741 PROTECAO CAIXA TERMOSTATO (C+F)  


Nota
326026516 TERMOSTATO INVENSYS TSV1009-01 120-240V  


Nota
326030491 CAIXA TERMOSTATO (C + F)  


Nota
326062671 BOTÃO TERMOSTATO  


Nota
152196008 ACABAMENTO CANTO PRETO

Nota
326031601 CAPA DOBRADICA PRETA CEGA (C+F)  


Nota
326061275 TUBO PVC 3,35X1,0  


Nota
326065870 PORCA SEXTAVADA M5 INSERTO NYLON  


Nota
326065665 PE NIVELADOR  (comp+fabr.)

Nota
326064766 KIT PARAFUSO PÉS  


Nota
43163000 PORCA SEXTAVADA M5  


Nota
150266009 PRENDEDOR BULBO  


Nota
326031526 SUPORTE EVAPORADOR (C+F)  


Nota
326028897 PARAFUSO TP 7-18 X12  


Nota
326031526 SUPORTE EVAPORADOR (C+F)  


Nota
326028006 EVAPORADOR BRC12/CRC08/12  


Nota
4173481 GAXETA LINHA SUCCAO  


Nota
210307001 FILTRO SECADOR  


Nota
120657003 CURVA LIGACAO  


Nota
W10375475 COMPRESSOR 127V 1/10r134 60HZeEMIe30HJR  
 
W10393801 COMPRESSOR 220V 1/10r134 60HZeEMIe30HJP  


Nota
326057584 TUBO DE CARGA 6,35 (C+F)  


Nota
W10236899 CONJUNTO RELE EMIe30HJR 115/127V-60  
 
W10224047 Combo PTC EMIe30HJP 240V  


Nota
49201028 CONTRA PINO 2,5X20  


Nota
326051254 ARRUELA ESTRELA 5,2mm RoHS  


Nota
W10219951 BASE COMPRESSOR COMPACTO  


Nota
326049974 PARAFUSO M10x9,5 RoHS  


Nota
326025720 GRADE COMPRESSOR  


Nota
326007042 TIRA FIXACAO COMPRESSOR FABRICADA

Nota
326007042 TIRA FIXACAO COMPRESSOR FABRICADA

Nota
326030489 GAVETA LEGUMES  W CLEAR EXP. (C+F)  


Nota
326030490 TAMPA  GAVETA LEGUMES (C+F)  


Nota
326030492 APARADOR D´AGUA (C+F)  


Nota
326061370 PORTA CONGELADOR C/SER. BRASTEMP Retro  


Nota
151799000 DOBRADICA PORTA CONG GW  


Nota
W10330009 FORMA DE GELO C+F (PPRF0063)  


Nota
151799000 DOBRADICA PORTA CONG GW  


Nota
326003771 BUCHA SUPERIOR SILVER  


Nota
326061372 EMBLEMA BRASTEMP Retro  


Nota
326061632 Conj. Puxador Retro  


Nota
326037545 TAMPÃO GW  


Nota
W10213273 GABINETE EMBALADO PRETO BRA08AE  


Nota
326033887 SEPARADOR GARRAFAS DIR TRANSP (C+F)  


Nota
326030748 FRONTAL GARRAFAS (C+F)  


Nota
326032751 GAXETA EMBALADA CINZA 80 LITROS  


Nota
326049989 PARAFUSO AACCFPH 10x19 RoHS  


Nota
326035852 BUCHA BATENTE DIREITO PRATA  (C+F)  


Nota
326031008 PRATELEIRA PEQ WATER CLEAR (C+F)  


Nota
326031001 PORTA LATAS NATURAL (C+F)  


Nota
 W11565398  PORTA EMBALADA BRANCO PÉROLA BRA08  / W11565400   PORTA EMBALADA BRA08AE


lordefp
Retângulo

lordefp
Retângulo

lordefp
Retângulo

lordefp
Linha

ROCHAO3
Rectangle

ROCHAO3
Rectangle

ROCHAO3
Line

ROCHAO3
Underline

ROCHAO3
Typewritten Text
120

SANTOG30
Stamp

SANTOG30
Text Box
*


	Cat_Peça_Brastemp
	cprf0045-v2 bra08



